Q- Lll Linear, Exponential or
Neither?

A Practice Understanding Task
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For each representation of a function, decide if the function is linear, exponential, or neither.

Give atleast 2 reasons for your answer,
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There are 4 players remaining after § rounds
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This function is decreasing at a constant rate

<@ Expanential Neither

wy  CCNGAH Kaye.
Tecraning

4 5 6567 § 9 1011 12
. - =

5.

S EW Linear Ewtial Neither
3.5 /_,..-—“'4—
;‘s Why?
s/ M) eauard Rade
™t 2 3 4




P

] inea Exponential Neith
ipersun's height as a function of a person'sage M o ! w
(from age 0 to 100)
Why?
No nsint- slope ol Rade
Con-hnocos
g2  —
=3r =4y Linear Exponentia! Neither
- . Q
— X% = Why? 3
== Slope=—
TR P
——3y-F CondimL IS
T
8.
S Rit At < Linear ')  Exponential Neither
o —= 2 3-8 '
vz i 2 B2 :% why? |8 _ _9 (,@ﬁff)wg?
1T 4 -31 < = o
2.9 6 20 |8 Z Reer¢

Chan
Disuete 2




9.
£ iHeightinihiches. | &4 ShoeSize "
62 6
74 13
70 9
67 11
53 4
58 7

Linear

Exponential @

wy O (OnSant Skpe
OF- FRato

10.
The number of cell phone users in Centerville as a

function of years, if the number of users is

increasing hy 75% each year.
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The time it takes you to get to work as a function tl( Linear Exponential Neither
speed at which you drive
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Each point on the graph is exactly 1/3 of the Linear Neither
previous point.
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f)=7.F@) =7.fG) = fn=1) + f(n —2)
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FD=1£6) =3 f(r=1)




